Govt. Naveen College Bori, Durg
B. Com Il Year
Academic Session 2021-22
Model Examination

Course Title: Business Statistics
Paper Code:

Time: 3 hrs Maximum Marks: 75
Note: This question paper consists of Only One Section: Sections A

Attempt: All the Questions
The figures given in the right-hand margin indicate marks.

Section -A Marks — (7.5*10=75)
(Attempt all the questions from Q.1 - Q.10 All questions carry equal marks.)

Q.1 =1 aruft & AR |TET AT R

Calculate arithmetic mean from the following table:

e Size amafa Frequency
S5awn 7
10 & == 20
5-15 38
15 weorr arfaren 55
20-25 20
25 o arfaren 5
30 qar erferem 1
Q.2 fr= srmafa forawor # ageres FTa ik
Calculate mode from the following Frequency distribution:
weg fig Mid Value amafa Frequency
1 2
2 4
3 10
4 8
5 5
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Q.3 AFT 3Mhar T AT JAT YA QT A1 Hifad ;

Calculate mean and standard deviation from the following data ;

amased Temperature fe=t <y wear No. of days

-40 to -30 10

-30 to -20 28
-20to -10 30
-10to O 42

Oto 10 65
10-20 180

20-30 10

Q.4 T st & Fel I & fAVHAT I[UTieh Sl AT Hiod

Calculate Karl Pearson’s Coefficient of skewness from the following data;

3t (& atfereR) Marks (above)

wrat k1 w=ar No. of students

0 150
10 140
20 100
30 80
40 80
50 70
60 30
70 14
80 0

Q.5 e weint & forg Spearman Rank Correlation weester foties st shifor

Calculate Spearman Rank correlation coefficient for the following data :

X Y
40 50
45 47
28 38
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42 40
48 45
20 28
36 38
40 48

Que. 6 Fr= arft & yaTa Rrerer quT gEeRT TUiiE AT B

Calculate the standard deviation and its coefficient of the following series:

i (@ erferm)Marks (more than) st &t wwar No. of students

0 100
10 90
20 75
30 50
40 20
50 10
60 5

70 0

Que. 7 9g9% Taaret AT garT fawsar w1 AT

Calculate coefficient of skewness using Quartiles:

weg foig Mid Value amafa Frequency
15 30
20 28
25 25
30 24
35 10
40 21

Que. 7 AFT 3Tl & ATET AT AT e A1d Hifad ;

Calculate mean and standard deviation from the following data ;

arasew T emperature et <t wwar No. of days
-40 to -30 10
-30 to -20 28
-20to -10 30
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-10to 0 42
Oto 10 65
10-20 180
20-30 10

Que. 8 fAFITATET a1 AT A 94T B & & &l &1 H 310« fwror §

Which of the following two series A and B is more variable;

THTTEe Ja- (a3 H) weefet &y @ear No. of employees
Weekly salary (in Rs.) A B
0-5 20 15
5-10 18 20
10-15 30 35
15-20 25 30
20-25 20 18
25-30 15 17

Que. 9 AT 3Tl & fOT ATET JUT ALIHT F AT T ATd

I ;
Calculate mean deviation from arithmetic mean and median for the following
data;
#zm 7ea Mid Value amafa Frequency

35 2

40 5

45 8

50 6

55 4

Que. 10 fh& Feedar gfdaf@iar & 10 gfaafaar & der et

GanT fAFsT A # @ 9137 : Ten competitors in a beauty contest are
ranked by three Judges in the following order;
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wor fAuttask First Judge | feeftar foriass Second Judge | qeftar forraes Third Judge
1 3 6
6 5 4
5 8 9
10 4 8
3 7 1
2 10 2
4 2 3
9 1 10
7 6 5
8 9 7

HIfC TEHSY HT AT A §T TART o 0Tt & o Sig i

goeldl & 9fd fAehcdd FAT T § Use the rank correlation coefficient to

discuss which pair of judges have the nearest approach to common tastes in
beauty?
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